fmng.uk

Statistical Distributions

Geometric: X~Geo(p); X is no. of attempts needed for 1st success

P(X = k) =?
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P(X=k)=q“"p

P(X < k) =2
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PX<k)=1-qgF

Negative Binomial: X is number of attempts needed for n

successes

Prob. of nth success on kth attempt: p, =?
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Prob. of nth success on kth attempt:

_(k—1\ n-1_ (k-1D-(n-1)
pe=(_1)p" p

— (fl : 1) pnqk—n
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If X~Po(A), what is the most common value of X?

(@) IfA1=75(b)If1=5.5
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If X~Po(A), what is the most common value of X?
(@) IfA=5(b)IfA =55
Solution

AN _

PX=r)=e?l=PX=r—1)x2

(a) If A = 5, mode (most common value) occurs at X = 4
and X =5

(b) If A = 5.5, mode occursatX =5



